Mathematics 101 Test #2A Name: SoLv TioNnS

" CAMOSUN

Instructor: George Ballinger Section:

Term: Winter, 2016
The Sharp EL-531 calculator may be used on this test. Mark:
Show all of your work in the space provided. 2 5
The number of marks for each question is indicated in brackets.

Give exact answers (no decimals) unless told otherwise.
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2. Find J- Ve —1 dx by using the integration formula J du =u* -a* arcsec‘ l +C fora>0.
a

Let u=e* ond a=l |
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3. Use partial fractions to integrate J—,—
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. . e . Vx*-16
4. Use a trigonometric substitution to integrate dx

Let %= U4secO = Sec9~'%<f | g __/_jxau, dx =& fdua® L{Sec&‘fah@JD
dx = Ysecd 4angd0 x '-(Sec9
"‘ jrem - qg%x@é@

3 [ (secp-0 o

bop = AKEE ~ 4 (one-6)+ C

[5] J;g,"-,'-(hv\S _4deg- 48+ C

= Jxzw — Yarcsec (’Lﬂ C
- —

oR archm< Xl-“’)

etc.

5. Evaluate the improper integral, or if it diverges, then determine whether it diverges to infinity, to negative
infinity, or neither. Be sure to convert the integral to limits.
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6. Find the centroid of the region bounded by the curves y=coshx, y=-coshx, x=0 and x=1. Round your

answer to four decimal places. )
“'\vf 0L X&) Y | -

y=coshx

' X
AA = (Coslfvx— (- wsl«x\) AX
= Q Ccoshx ax
\
A= 2 g Cos hxdx

]

|
= 9 siehx \v = g siwh !l Z 2.250Y4

Ax:"o =3 5:0 (Slamm&‘k’g)

5Ay = x (cosha) A%

\ " y ,
. A%;: S als Coshx Clx + 2% _ Coshx
= - 2 Sinhx
B a + O\ Coshx

| | ‘
= [stw\\nx—— QCOS\\’)(‘XD
. Jstehl- Qceshly 2 & 12692

/= coth [ + Csch | % 0.537]

- Ay Asinhl-2cosh! *1
X = A ) 2sinhl

Cemlf"-"(‘J is 6—2/9) = (0-537", O)
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